
1) 6 , 7 9 , 4 2 , 4 14,3

+ 7 , 6 + 4 , 7 + 6 , 6 14,1

9

2) 5 , 4 4 4 , 8 4 5 , 2 8 15,39

+ 9 , 9 5 + 2 , 7 1 + 2 , 6 7 7,55

7,95

3) 1 , 5 1 7 6 , 1 2 1 7 , 6 5 3 5,945

+ 4 , 4 2 8 + 1 , 6 2 2 + 1 , 9 4 6 7,743

9,599

4) 7 , 1 9 6 6 , 7 9 8 3 , 9 4 8 20,322

+ 7 , 4 8 2 + 2 , 7 8 4 + 4 , 5 6 8 14,5

+ 5 , 6 4 4 + 4 , 9 1 8 + 7 , 8 9 2 16,408

5) 2 6 , 1 5 1 3 , 9 4 8 8 , 3 6 29,29

+ 3 , 1 4 + 6 , 8 4 + 4 , 5 3 20,78

92,89

6) 2 3 , 2 3 1 8 , 2 6 9 8 , 5 2 104,84

+ 2 , 7 6 + 6 , 9 5 + 1 , 7 9 107,88

+ 7 8 , 8 5 + 8 2 , 6 7 + 3 9 , 9 2 140,23

7) 1 , 5 6 3 , 6 8 6 , 3 7 44,95

+ 4 3 , 3 9 + 7 2 , 9 5 + 4 1 , 7 8 76,63

48,15

8) 0,4375 + 0,418 = ______ 355,6 + 4,864 = ________ 0,8555

 360,464

292,1 + 9,146 = ______ 0,6084 + 70,21 = ________ 301,246

70,8184
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